Adding Integers (A)

Name:

12+12 =
-9+ 11
10 + (—-10) =
8+ 10
—11+9 =
11 +38 =
10 + (—12) =
—11 + 12
9+ (—12) =
124+ (-9) =
—11 +11
10 + (—8)
-8+ (—9)
—12+8 =
9+ (=-3) =
—-34+5
-1+ (-10) =
—11+7
5+(—4) =
12+ 3 =
—12+4
8 + (—8)
2+ (-1)
9+10 =
-2+ (—12) =

Date: Score:

Calculate each sum.
—6+(—8) =
6+ (=7)
—3+10
—2+7
—4+1 =
—54+(-8) =
—10 + (-11) =
-7+ (—11) =
9+4 =
3+1
—6 + (—12) =
5+ (-10) =
54(-9) =
—54(-11) =
-1+ (-4) =
—3+(-11) =
-1+ (-3)
54+ (=3)
—-2+11 =
-3+9 =
—9 + (—8)
12 + 11
~10+6
9+9 =
10+9 =
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Adding Integers (A) Answers

Name: Date:
Calculate each sum.
12+12 = 24 —6+(—8) =-14
—-9+11 = 2 6+(-7) = —1
10 + (—-10) = 3410 = 7
8+ 10 = 18 247
—-11+9 = =2 —4+1 = =3
11 + 8 = 19 —54+(=8) =-13
10+ (-12)= -2 —10 4+ (—11) = -21
-11+12 = 1 —7 4+ (=11) = —18
9+ (-12)= -3 9+4 = 13
12+ (-9) = 3+41 = 4
—11+ 11 —6 + (—12) = —18
10+ (-8) = 2 54+ (=10)= -5
-8+ (—9) =-17 54(-9) = —4
—12+8 = —4 —5+(—11)=-16
9+(-3) = 6 —1+4+(-4) = -5
—3+5 = 2 -3+ (-11)=-14
-1+ (-10) = —-11 —1+(-3) = —4
—-11+7 = —4 54+ (=3)
54(-4) = 1 2411 =
1243 = 15 —-34+9 =
—12+4 = —8 —94(=8) =-17
8+(-8) = 0 12+11 = 23
2 +(-1) ~10+6 = —4
9+ 10 = 19 949 = 18
24 (-12)=-14 10 + 9 = 19

Score:
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Adding Integers (B)

Name: Date: Score:

Calculate each sum.

—12 + (—10) = 1+(-9) =
94+ (-9) = —10 + (—6)
-8+ (-11) = 3+ (—10) =
12+ 8 = —9+(—4) =
9+ (-8) = 6+12 =
10+ 9 = 14+(-1) =
10 + (—10) = —-9+1
—8+(-9) = 2+ (—4)
8+ 8 = 11 + (=5)
10+11 = 3+7
9+ 10 = —34+2
11+ (-11) = —8 + (-3)
11+ 8 = -1+ (-3)
—10+ (-8) = 12+12 =
-9+ (—11) = 12+ 7 =
—-12+3 = 10 + (—12) =
-7+ (-9 = 10+ 3
12+ (-9) = -3+ 12
—10+ 7 = -6+ (—9) =
—5+(=6) = —11+(=7) =
—-8+12 = 6+ 5
—5+49 = —7+ 8
942 = —5+3
3+4 = —6+(-1) =
—-11+9 = -7+11 =
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Adding Integers (B) Answers

Name:

Date:

—12 + (-
9+ (-
_8_|_(_

12 + 8

9+ (-

10+ 9

10 + (—
_8_|_(_

8+ 8
10 + 11
9+ 10

11 + (—

11 + 8

—10 + (—
—9 4 (_

-12+3

_7_|_(_
12 + (—

—-10+ 7

_5_|_(_

—8 412
—549
9+ 2
344

—11+9

10) = —22
9 = 0
11) = —19
= 20
8) = 1
= 19
10)= 0
9) =-—17
16

= 21
19

11)= 0
19

8) =-—18
11) = —20
-9

9) =-16
9) = 3
= -3
6) =—11
4

4

11

= 7

= -2

Calculate each sum.

1+(-9) = -8
—10 + (-6) =-—16
3+ (-10)= -7
—9+(—4) =-13
6+12 = 18
1+(-1) = 0
-9+1 = -8
2+(—4) = -2
114+(-5) = 6
3+7 = 10
—3+4+2 = -1
-8+ (—3) =-11
-1+4+(-3) = —4
12+12 = 24
12+ 7 = 19
10 + (—-12) = -2
10+ 3 = 13
-3+12 = 9
-6+ (—9) =-15
—11+(=7) =-18
6+5 = 11
—-7+8 = 1
—5+3 = -2
—6+(-1) = —7
-7+11 = 4

Score:
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Adding Integers (C)

Name:

10+11 =
9+ 11
-8+ (—12) =
11+9
—-8+10 =
-12+12 =
9+ 12
11+ 11
8+ 11
12 + (—10) =
—11 + (-10) =
—12+38
10 + (—9)
-9+ (-8) =
11+12 =
—-94+9
1249
3+ (—8)
7+12 =
-1+ 10 =
4+ 12
74+ 8
6+ 3
4+(-1) =
~7+5 =

Date:

Calculate each sum.
—12+6 =
-9+ (-10) =
-5+ (-3)
1242 =
—5+(-9) =
2+ (—4) =
-3+ (-9)
3+ (-2)
7+ 11 =
—6 + (—12) =
4+ (=7)
—12 + (=3)
—4 4+ 11 =
—10 + (—10) =
—4+(=3) =
-10+3 =
54+ (=5)
7+ (=3)
-3+(-1) =
—10+ (=5) =
—11+6 =
—7+2
—-8+5
—8+(—-8) =
54 (—11) =

Score:
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Adding Integers (C) Answers

Name: Date:
Calculate each sum.
10 + 11 = 21 —-12+ 6 = —6
9+11 20 -9 + (-10) = —19
—8 + (—12) = -20 —5+4(-3) = -8
11+9 20 12+ 2 = 14
—-8+10 = —-5+4(-9) =-14
—-12+12 = 24+ (—4) = -2
9+ 12 21 —3+(-9) =-12
11 +11 22 34(-2) = 1
8+ 11 19 7+ 11 = 18
12+ (-10)= 2 —6 + (—12) = —18
—11 + (-10) = -21 44 (-7) = -3
—12+38 —4 —-12+ (-3) =-15
10 + (—9) 1 -4+ 11 = 7
-9+ (-8) =-17 —10 + (—10) = —20
11 + 12 = 23 —4+(=3) = -7
-9+9 0 —-10+3 = =7
12+ 9 21 54(=5) = 0
3+ (-8) -5 7+ (=3)
7+ 12 = 19 —-3+(-1) = —4
-14+10 = 9 —-10+ (=5) =-15
4+ 12 16 —-11+6 = —5
7+ 8 15 -7+ 2 = —5
6+3 9 -8+ 5 = -3
44 (-1) = —8+(—8) =-16
—7+5 = -2 5+(-11)= -6

Score:
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Adding Integers (D)

Name: Date: Score:

Calculate each sum.

—10 + (-11) = 11+ 8 =
—-9+12 = —3+2
8 + (—10) = 2+3
12 + 8 = 1+ (=7)
—-12+9 = —6+ 4 =
10+ (—9) = —54(-11) =
—9 + (-10) = —2 + (—6)
948 = 34+6
~11+11 = 4+ (—6)
12 + (—12) = —9 + (—6)
-9+ (-11) = 8+1
11 + (-10) = 1+ (=3)
8+ 8 = 1412
11+ (-9) = 10+ 6 =
—-8+9 = —6 + 12 =
12+ (-11) = 7+ (—12) =
—10 + (-10) = 6+ 10
-10+12 = 8+ 2
545 = 7+ 6 =
11+ (-1) = 6+11 =
-5+ (—4) = 2+ (—11) =
11+12 = 3+1
4+ 4 = ~-10+8
6+(-2) = —8+(—-6) =
—2+4 = —3+45 =
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Adding Integers (D) Answers

Name:

Date:

~10 + (-11) = —21

-9 412 = 3
8+ (—-10)= -2
12+ 8 = 20
—-12+9 = -3
10+(-9) = 1
—9 4 (=10) = —19
948 = 17
—11+ 11 = 0

12+ (-12)= 0
—9 4+ (—=11) = -20
11+(-10)= 1

8+ 38 = 16
11+(-9) = 2
—-8+9 = 1

~12 4 (=11) = —23
—~10 + (—10) = —20

—10+ 12 = 2
545 = 10
11+(-1) = 10
—54+(—4) = -9
11+12 = 23
444 = 8
6+ (—2) =
—-2+4 = 2

Calculate each sum.

11 + 8 = 19
—3+2 = -1
2+3 = 5
1+(=7) = —6
—6 + 4 = -2
-5+ (-11)=-16
—2+(—6) = -8
3+6 = 9
44 (—6) = =2
—9+(—6) =-15
8+ 1 = 9
1+(-3) = -2
1+12 = 13
10+ 6 = 16
—6 + 12 = 6
7+ (-12)= -5
6 + 10 = 16
8+ 2 = 10
7+6 = 13
6+ 11 = 17
2+ (-11)= -9
3+1 = 4
—10+ 8 = =2
—8+(—6) =-14
—-3+5 = 2

Score:
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Adding Integers (E)

Name:

12+ (-9) =
10 + 10
8+ 8
11 + (—10) =
12 + (—12) =
—11+9 =
11 + 12
12 + (—10) =
9+ (—8)
9+ (-9)
11+ (—11) =
10+ 9
9+10 =
—12+ (-11) =
—8+9 =
10 + (—12) =
143
6+ (—2)
—-6+12 =
12 + 8 =
—4 + (=5)
-3+ 12
-9+ (—11) =
—2+4+3 =
—8 + (—10) =

Date:

Calculate each sum.

546 =

7+ (-9)
—5+7
—2+38

1+10 =
9+2 =
—6 + (—11) =

—10 + (—6)

8+ (—12) =

6+ 4
8+ (=2)
—6 + 8
9+ (—-12) =
12+1 =
3+ (—10) =
2+ (—4)
1+ (—4)
—34+1
—12+7 =
—10+ 8 =
—34+6
10 + (—2)
-9 + (—4)
—-8+11 =
—24+12 =

Score:
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Adding Integers (E) Answers

Name:
12+(-9) = 3
10 + 10 = 20
8+ 8 = 16
11 + (—=10) =
12+ (-12)= 0
—11+9 = =2
11 + 12 = 23
12+ (-10)= 2
9+ (—8)
9+ (-9)
11+(-11)= 0
10+ 9 = 19
9+ 10 = 19
—12 4 (—-11) = —23
—-8+9 = 1
10 + (-12) = -2
143 = 4
6+ (—2)
—6 + 12 = 6
12+ 8 = 20
—4 4+ (=5) = -9
-3+ 12 = 9
—9 4 (=11) = -20
—243 = 1

—8 + (—10) = —18

Date:

Calculate each sum.

—-5+4+6
7+ (—9)
547
—-2+8
1+ 10
942

—6 + (—11) =
=—16
8+ (—12) =

—10 + (—6)

6+ 4
8+ (=2)
—6 + 8
9+ (—12)
12+1

3+ (-10) =

2+ (—4)
1+ (—4)
—34+1
—12+7
—10+ 8
—34+6
10 + (—2)
-9 + (—4)
-8+ 11
—2+12

11
11
—17

10

Score:
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Adding Integers (F)

Name:

-8+ (—12) =
-9+ (-9)
11 + 8
—10 + (—9)
9+12 =
-8+ (—11) =
12 + (—10) =
12 + (—12) =
10 + (—8)
8+ 9
12+ (-9) =
10 4+ 11
-8+ 10
9+ 11 =
4+ (-11) =
2+ 12
3+ 12
8+ 8 =
11+ (—11) =
—5+4(-3) =
—10 + 2
—342
2+ (—11) =
—12+38 =
—84+7 =

Date:

Calculate each sum.
-2+ (=2)
—11 + (-=7)

—5+7

-8+ 5

7+ (—10) =

6 + (—9)
—7 + (=3)
8+ 3
549
-3+ (-6)
—2+7
—11 + (-2)
6+ 8
—12+1
9+ (1)
-3+ (-3)
—10+6
12 + 11

—5+(-12) =

-3+ (—11)
—4+1
—7 4+ (-8)
9+ (—4)
11+ 10
—5+4

Score:
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Adding Integers (F) Answers

Name: Date:

Calculate each sum.

—8 + (—12) = -20 —24+(-2) = —4
-9+ (-9) =-18 —114(=7) =-18
11+ 8 = 19 —5+4+7 = 2
—10 + (=9) =-19 —8+5 = -3
9+12 = 21 7+ (-10)= -3
-8+ (—11) = —19 6+(-9) = -3
12+ (-10)= 2 ~7+(=3) =-10
12+ (-12)= 0 8+ 3 = 11
10+(-8) = 2 5+9 = 14
8+9 = 17 -3+ (=6) = -9
12+(-9) = 3 —2+4+7 = 5
10+11 = 21 —11+(=2) =-13
—-8+4+10 = 2 6+ 8 = 14
9+11 = 20 —-12+1 =-11
44+ (-11)= -7 9+(-1) = 8
2+12 = 14 -3+(-3) = —6
3412 = 15 —-10+ 6 = —4
8+ 8 = 16 12+11 = 23
11+ (-11)= 0 -5+ (-12)=-17
—5+(-3) = -8 -3+ (-11)=-14
—10 + 2 = -8 —4+1 = -3
—3+2 = -1 -7+ (-8) =-15
2+ (—-11)= -9 9+(—4) = 5
—12+38 = —4 11+10 = 21
-8 +7 = —1 —5+4 = —1

Score:
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Adding Integers (G)

Name:

8+ 12
—10 + (—9)
-8+ 10

—11+8
—12+ 12
11 +11
—10 + (-8)
12+ 9
12+ 8
10 + 10

12 4+ (—11) =
—11 4 (—10) =

—-8+9
10 + 11
—10+ 12

—11+ (-12) =

—1+7
12 4+ (1)

9+ (-10) =

-7+ 5
1+ (—6)
8+ 11
—-9+3
10 + (=3)
1+(-1)

Date:

Calculate each sum.

-9+ (—11) =

—-6+9
-3+11

9+1

6 + (—10) =

6+ (-8) =
-7+1
-7+ (—12) =
—24(-8)
~1+8

—11+3 =

12+ 5

4+ (-1)
—3+38 =
—44+(=3) =
-1+9

4+ 10

2+ (-1)

—10+ (-5) =

124+ (=2) =

8+ 8

9+ (—-9)
—-9+12
—4+5 =
12 + (—=6) =

Score:
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Adding Integers (G) Answers

Name: Date:
Calculate each sum.

8+12 = 20 -9+ (—11) = -20
—10+ (-9) =-19 —6+9 = 3
-8 4+ 10 2 —3+11 = 8
—11+8 -3 9+1 = 10
—124+12 = 0 6+ (—10)= —4
11+11 = 22 6+ (-8 = -2
—10 + (—8) = —18 -7+1 = —6
12 +9 21 —7 4+ (-12) = —19
12 + 8 20 —24(=8) =-10
10 + 10 = 20 —1+4+8 = 7
12+ (-11)= 1 —11+3 = -8
—11 + (—-10) = —21 12+ 5 = 17
—8+9 1 4+(-1) = 3
10+11 = 21 —3+38 = 5
-10+12 = 2 —4+(=3) = -7
—11 4 (—-12) = —23 149 = 8
—-1+7 6 4+ 10 = 14
12 + (—1) 11 24+(-1) = 1
9+ (-10)= -1 —10 + (=5) = -—15
—7+5 = -2 12+ (=2) = 10
1+ (—6) -5 8+38 = 16
8+ 11 19 9+ (-9) 0
—-9+3 —6 -9+ 12 3
10 + (=3) = —4+5 = 1
1+(-1) = 12+ (-6) = 6

Score:
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Adding Integers (H)

Name:

—12+ 8
—10 + 8
—8 + (—8)
94+ 11
—-9+4+9
—11 + (-9)
-8 + (—9)
11 + 10
11 + (-8)
—8 + 11
—10 + (—11)
—12 + (—11)
—12 + (—12)
-8+ 10
—8 + (—=7)
-9+ 8
-74+4
—10 + 12
—6 + 2
11 + (—11)
5+1
—12 + (-9)
—12+4
11 + (-1)
-9+ 12

Date:

Calculate each sum.
12+ (-3) =
-7+4+9
12 + 10
44 (=7)
-7+6 =
-3+ 11 =
-5+10 =
-5+ (-12) =
—4 + 12 =
9+3
-5+ (-2)
1+ (-12) =
-9+ (-10) =
—4+(—4) =
4+ (-1) =
-9 + (-5)
-3+4+9
1+ (=3)
6+ (—12) =
1+ 10 =
4+ (—-11) =
10+ 9 =
-1+ (=5)
10+ (-2) =
11+ (-12) =

Score:
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Adding Integers (H) Answers

Name: Date:
Calculate each sum.

—-12+8 = —4 —12 4+ (-3) =-15
—10+ 8 —2 -7+9 = 2
—8+(-8) =-16 12+10 = 22
9+ 11 20 44 (=7) = =3
-9+4+9 = 0 -7+ 6 = —1
—11+(=9) =-20 3411 = 8
—8+(—9) =-17 —-54+410 = 5
11+10 = 21 —54(=12)=—-17
11 + (-8) 3 4412 = 38
-8+ 11 3 943 = 12
—-10 + (—11) = -21 —54(=2) = -7
—12 4+ (—=11) = —23 1+ (-12)=-11
—12 4 (-12) =24 —9 4 (-10) = —19
—-8+10 = 2 —4+4+(-4) = -8
—8+(=7) =-15 44+(-1) = 3
—9+8 -1 -9+ (-5 =-14
—7+4 -3 -3+9 = 6
—10 + 12 2 14+(-3) = -2
—6+ 2 = —4 6+ (—12)= —6
11+(-11)= 0 1+10 = 11
5+1 6 4+ (-11)= -7
—12+(-9) =-21 10+ 9 = 19
—12+4 -8 —1+4+(-5) = —6
11+ (-1) = 10 10+ (=2) = 8
—9+12 = 3 —11 + (—12) = —-23

Score:
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Adding Integers (I)

Name: Date: Score:

Calculate each sum.

8+11 = —4+3 =
-9+ (-10) = —7+7
—9+9 = 9+4
-8+ (-9) = —2+7
-9+ 8 = —4+(-1) =
—-12+9 = 124+ 6 =
—11+(-8) = —5+6
—-9+11 = —10 + (—10) =
8+ (—12) = 9+3
—10+ (—9) = —1+2
—12 + (-10) = 7+ (—12) =
11 + (—11) = 6+ (—=7)
11 + (—12) = 1+ (-5)
10+ (—11) = —10+ (—8) =
—11 4+ 10 = 5+ 4 =
—11+(-9) = 10 + (-5)
—8 + (—10) = 12+ 5
2+1 = —-14+6
-1+12 = 6+ (-3) =
—5+(—11) = 54(-9) =
2+4 = —2+4+2
-2+ (-12) = 6 + (—4)
—34(-11) = 10 + 12
—4+4+9 = 11+ (-3) =
12+ (-1) = 9+12 =
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Adding Integers (I) Answers

Name:
8+ 11 = 19
—9 4+ (=10) = —19
-9+4+9 0
—8+(—9) =-17
-9+ 38 = —1
—-12+9 = -3
—11 4+ (-8) =-19
-9 411 2
8+ (—-12)= —4
—10+ (=9) =-19
—12 4+ (-10) = —22
11+(-11)= 0
11 +(-12)= -1
10+ (-11) = -1
—11 4+ 10 = —1
—11+(-9) =-20
—8 4+ (—10) = —18
2+1 3
-1+12 = 11
—5+(—11)=-16
2+ 4 6
-2+ (-12)=-14
34+ (-11)=-14
—4+9 = 5
12+(-1) = 11

Date:

Calculate each sum.

—4+3
—7+7
9+ 4
—2+7

—4 + (-1)

12+ 6
—5+6

—10 + (=10) =

9+3
—-1+2

7+ (—12) =
6+ (—=7)
1+ (-5)
—10 + (-8)

544

10 + (-5)

12+ 5
-1+6

6 + (—3)
5+ (-9)

-2+ 2

6 + (—4)
10 + 12
11 + (=3)

9+ 12

22

21

Score:
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Adding Integers (J)

Name:

8 + (—9)
—-12+9

-9+ (-12) =

—10+ 11

8 + (—10)

12 4+ 10
8 + (—8)
9+ 8

-9+ (-10) =

-9+ (-9)

—10 + (-12)

9+ (—11) =
-8+ (-11) =

—11 + 10
—11 + (-8)
—6 + (—9)
8 + (=5)
—9+6
1+4
—12+38
10 + (—6)
6 + (—6)
12 + (=2)
7+ 1
1+1

Date:

Calculate each sum.
—4 + 12 =
—11 + (-2)
—-1+12
-8+ (—12) =
—-2+4 =
—-1+11 =
—5+3
—4 + (-2)
—11 + 11
11+1
2+ (-1)
-8+ 3
-2+ (—8)
1+(—6) =
—12 + 12 =
10 + 8
11+ 4
—6 + (—2)
—-14+2 =
-7+ 11 =
945
1+8
6+1
12+ (=7) =
—4 4+ (=5) =

Score:
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Adding Integers (J) Answers

Name:
8+(—9) = —1
—-12+4+9 = -3
-9+ (-12)=-21
—10+ 11 = 1
8+ (—10)= -2
124+10 = 22
8+(-8) = 0
9+38 = 17

—9 + (-10) = —19
—9+(-9) =-18
—10 4+ (-12) = —22

9+ (-11)= -2
—8 4 (—=11) = —19
-11+10 = -1
—11 4+ (-8) =-19
—64+(=9) =-15

8+ (-5 = 3
—9+6 = -3
1+4 = 5
~12+8 = —4
10 + (—6)

6 + (—6)

124 (=2) = 10
7+1 =
1+1 =

Date:

Calculate each sum.
—4 + 12
—11 + (-2)
—-1+12

-8+ (—12) =

—2+4
-1+ 11
—5+3
—4 + (-2)

—11 +11
11 +1

2+ (-1)
—-8+3
-2+ (—8)

1+ (—6)

—12 4+ 12
10 + 8
11+4
—6 + (—2)
—1+4+2
-7+ 11

945
1+8
6+ 1
12 + (=7)
—4 + (=5)

Score:
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